


This is a little different...hmmm...any ideas??

Solve the following...
2% -33(2')+32=0
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Solve the following...

125(5*)-30(5")+1=0

’15(653-30(5’%1: 0
Le.{- &5‘&
125 (mY - 30m £ 1= 0
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Solving Exponential Equations

Check your answers in the original equation.

Solve.
(a) 22:: = 28 (b) 33::—1—1 - 3x—-3 (C) 54::4—1 53x+9
(d) 10375 = 101:—9 < (E) sz-—sx i 52::*5 (f) 4x2——3x =, 4;1 5
1 x+2 1 x+3 :
(a) Solve <Z) = <§> (b) Verify your answer in part (a).

Equivalent equations have the same root(s). Which equations are equivalent?
(a_) 4x+2 S 2x+'5 (b) 252 5% L (C) 92:: 4 = Q7= 1

. Find the solution set. Verify.

(@) 27 =322%) (b) 3% = 27(3%9 RECKa (%)m

Solve each of the fpovﬁng.

x=2 x+1
(a) Dl :_21_ (b) X2 . 4x+2 (C) <£) o (%) e
(@) 9%+ = 8127%) @ 2524 7=71 () 251 x 47+ 1 % g5+ 1 = 128%
Solve. :
@) @59 =32 (b) 9% = 279 x (3 (o) 27 = (165~1) x 2%

How many times will the hands of a clo_ck cross between 08:00 and 20:00?

Solve and vér]fy.
(@ 5% —6(59+1=0 () 3227 —12029+1=0

Solve and verify.

(8) 5% — 626(5) + 625 = 0(b) 2% —2002%) + 64 =0 (o) 22"~ 33(2) +32=0

Solve and verify. . &
@ 9%—4(39+3=0 (b) 165 4(4)+4=0 (0 6*—~2(69+1=0

= x(n'z =x(q 0 10 | = x(eTL
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g— 07— =x(q 010 [~ =x(ELIT 6

‘[IOV—X@‘[IOZ—X({{I—~ 10 ¢ = x(v'g

9=xGr=x@r=%pL— =xC

9— =x(q 3 =x(¢7 {—}( {1— €}

{I—- SHEo @ ss— =x(Ep 10 [=x7

710 g=x(7=x(pg=x07— =x(qz=x(eE
ol o(q sCez {g} {e} {9} {s}(@T -
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